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In [1]:

import numpy as np

import matplotlib.pyplot as plt
import matplotlib

import pandas as pd

import tensorflow as tf

In [2]:

import keras

from keras.models import Sequential
from keras.layers import Dense

In [3]:

print(keras._ version__)

2.9.0

In [4]:

train = pd.read_csv("./titanic/train.csv")
test = pd.read_csv("./titanic/test.csv")
print(train.shape, test.shape)

(891, 12) (418, 11)



In [5]:

train.info()

<class 'pandas.core.frame.DataFrame'>

Rangelndex: 891 entries, 0 to 890

Data columns (total 12 columns):

#  Column

0  Passenger |d
1 Survived
2 Pclass

3 Name

4 Sex

5 Age

6 SibSp

7 Parch

8 Ticket

9 Fare

10 Cabin

11 Embarked

dtypes: float64(2),

Non-Nul | Count Dtype
891 non—nul | int64
891 non—nul | inte4
891 non—nul | inte4
891 non—nul | object
891 non—-nul | object
714 non-nul | float64
891 non-nul | inte4
891 non—nul | inte4
891 non—nul | object
891 non—nul | float64
204 non-nul | object
889 non-nul | object
int64(5), object(5)

memory usage: 83.7+ KB

In [6]:

test.info()

<class 'pandas.core.frame.DataFrame'>

Rangelndex: 418 entries, 0 to 417

Data columns (total 11 columns):

#  Column

Passenger Id
Pclass
Name

Sex

Age
SibSp
Parch
Ticket
Fare
Cabin

10 Embarked

OCoOoO~NOOOThdwWwN —-O

Non-Nul | Count

Dtype

non-nul |
non-nul |
non-nul |
non-nul |
non—-nul |
non-nul |
non-nul |
418 non-nul |
417 non-nul |
91 non-nul |

418 non—nul |

418
418
418
418
332

418

int64
int64
object
object
float64
int64
int64
object
float64
object
object

dtypes: float64(2), int64(4), object(5)
memory usage: 36.0+ KB
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In [10]:

input_col = ['Pclass', 'SibSp', 'Parch']
labeled_col = ['Survived']

In [11]:

X = train[ input_col ]

y = train[ labeled_col ]
X_val = test[ input_col ]

In [12]:

seed = 0
np.random.seed(seed)

In [13]:

from sklearn.model_selection import train_test_split

X_train, X_test, y_train, y_test = train_test_split(X, v,
random_state=0)

In [14]:

print(X_train.shape, X_test.shape)
print()

print(y_train.shape, y_test.shape)
(668, 3) (223, 3)

(668, 1) (223, 1)
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In [15]:

from keras.models import Sequential
from keras.layers import Dense

In [16]:

model = Sequential()

mode | .add(Dense(30, input_dim=3, activation='relu'))
mode| .add(Dense( 15, activation='relu') )

mode| .add(Dense(1, activation="'sigmoid"))
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In [17]:

model .compile(loss = 'binary_crossentropy',
optimizer="adam',
metrics=["accuracy'])

model.fit(X_train, y_train, epochs=100, batch_size=10)

6946

Epoch 13/100

67/67 [ ] - Os 2ms/step
6856

Epoch 14/100

67/67 [ ] - 0s 2ms/step
6826

Epoch 15/100

67/67 [ ] - Os 2ms/step
6886

Epoch 16/100

67/67 [ ] - 0s 2ms/step
6901

Epoch 17/100

67/67 [ ] - Os 2ms/step — loss: 0.5961 - accuracy: 0.
6901

Epoch 18/100

67/67 | ] - 0s 2ms/step

6901

loss: 0.6046 — accuracy: 0.

loss: 0.6014 — accuracy: 0.

loss: 0.5990 - accuracy: 0.

loss: 0.5982 - accuracy: 0.

loss: 0.5964 - accuracy: 0.

model .evaluate(X_test, y_test)

7/7 1 ] - 0s Ims/step - loss: 0.5864 - accuracy: 0.7309

Out[18]:
[0.5864036083221436, 0.7309417128562927 ]

In [19]:

print("#n Accuracy : %.4f" % (model.evaluate(X_test, y_test)[1]))

7/7 [ ] - 0s 3ms/step — loss: 0.5864 - accuracy: 0.7309

Accuracy : 0.7309

In [20]:

pred = model .predict(X_val)

14/14 | ] - Os 1ms/step




In [21]:

sub = pd.read_csv("./titanic/gender_submission.csv")
sub.columns

Out[21]:

Index(['Passenger|d', 'Survived'], dtype='object"')



In [22]:
pred[:, 0] > 0.5
Out [22]:

array([False, False, False, False, False, False, False, True, False,
False, False, True, True, False, True, False, False, False,
False, False, True, True, True, True, True, False, True,
False, True, False, False, False, False, False, True, False,
False, False, False, False, True, True, False, False, True,
False, True, False, True, True, True, False, True, True,
False, False, False, False, False, True, False, False, False,
False, True, False, False, True, True, False, False, False,
False, True, True, True, False, True, False, False, False,
True, True, False, False, False, False, False, False, True,
False, False, True, False, True, False, True, False, False,
False, True, False, False, False, False, False, False, False,
False, False, False, False, True, False, True, False, False,
False, True, False, False, False, True, False, False, True,
False, False, False, False, False, True, False, False, False,
False, False, False, False, False, False, True, True, False,
True, False, True, False, True, True, True, False, False,
True, False, False, True, False, True, True, False, False,
False, False, False, False, True, False, True, False, False,
False, False, False, False, True, False, True, False, True,
False, True, True, False, True, False, True, False, False,
False, False, True, False, False, True, False, True, False,
False, False, False, True, True, True, False, True, False,
False, True, False, False, False, False, False, False, True,
False, True, True, False, False, False, False, False, True,
True, False, False, False, False, False, True, False, False,
True, False, True, False, True, True, True, True, True,
False, False, True, False, True, False, False, True, False,
True, False, False, False, False, False, False, False, False,
False, True, False, False, False, True, False, False, False,
True, False, True, False, False, False, False, False, False,
False, False, False, False, False, False, False, False, True,
False, False, True, False, False, True, False, False, True,
False, True, False, False, False, True, False, False, True,
True, True, True, False, False, False, False, False, True,
False, True, False, False, False, False, False, False, True,
True, False, True, True, False, False, True, True, False,
False, False, True, False, True, False, False, False, False,
False, True, False, False, False, False, False, False, True,
False, False, True, False, True, True, False, False, False,
False, True, False, False, True, False, False, False, True,
False, False, True, True, False, True, True, False, False,
True, False, False, False, False, False, False, True, False,
False, False, False, True, True, True, False, False, True,
False, True, False, False, True, False, True, True, True,
False, False, True, False, False, False, True, False, False,
True, False, False, False])

In [23]:
sub['Survived'] = pred[:, 0] > 0.5



In [24]:

sub. loc[sub['Survived']==True, 'Survived'] = 1
sub. loc[sub[ 'Survived']==False, 'Survived'] =0
In [26]:

sub.to_csv("titanic_submit.csv", index=False)
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